2. Get the 8seneral solution by finding the

3.

argument.

a. If it is a specigy angle, write the exace
value.

b. If nor, use calculator or tables.

Do whatever algebra you need to find the

variable in the argument (Examples 2,3, 4,

and 6).

4. Write the solution set.

a. Find all solutions m the domain by picking

he following exercise will give you practice solving

- 1gonometric equations.

*XERCISE 3-9

or Problems | through 40, solve the €quation in the
“wdicated domain.

“,

o

2,
3
1
5,
6
5

tan 6 + V3 = 8e[0°, 360

: 2oos 0+ V3 = ; 6e[0°, 360°)
2sin(0 + 47°) = |, 0e[0°, 360
sec(0 + 81°) = o, 6€[0°, 360°)
4cos’g = |, fe[—180°, 180°]
45in%g = 3. Be[ —180°, 180]

2506 cos 6 = V2 cos 0, fe{real numberg

of degrees}

fe{real numbers
of degrees}

tan § sec @ = tan @,

anx — 3 = 5 tan x, xe{real numbers}
Cosx + 2 = 3 COS x,
2sin’6 + gip 2= 0,

an’g + tap g — 0,

xefreal numbers}
de(—180°, 180°)
0e[—90°, 90%)

2008’ ~ 5 cos 4 + 2 =, vel0. 24)
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14.
15.
16.
17.
18.
19.

25

26.

27.
28.

29.°

30.
31,
32,

33.

34.

38.

x€[0, 247)
0e[0°, 360°)
0e[0°, 360°)

x€[~ar, ar)

2sec’x — 3 gecx — 2=,
Sifé + 55in g + 6 =,
4 csc?g + 4 csc 6 + .=,
tan’x - gsec y — I =0y,

3-3sinx - 2 cos’x =, xe[~m, 7]

I -cos 9= —gip 8, Oe[—180°, 1807

1+

1 i, 0c[—180°, 180°)
s @ )

4sin x cos x = V73, xe[0, 247)

SInx = sin 2y, x€[0, 24r)

S]H(QQ 9‘ 3) - ‘.\/g’
sin

tan(90° - g) = =k

0e(—270°, 270°)
fe(—180°, 180°)

sin 26 cos 64° 4 cos 26 sin 64° — ?

0€[0°, 360°)
€os 38 cos 12° — gip 30 sin 12° = EI
fe[~120°, 120°)
fe(—90°, 90°)
8e[~90°, 90°)
8e(~90°, 90°)
fe[~90°, 90°)

COs 46 ~ sin 29 = 0,
C0s 48 ~ sin 20 — 1,
€08 38 + cos 50 = 0,
sin 50 + sin 7¢ = 0,

COS X ~ V3gin y = 1, x€(0, 277]
SIn X — /3 ¢og 5 = L, xe[=m, 7]
tan 106 + o 50° /3

an 108 an =0 0(0°, 90°)

I — tan 10§ tan 50° 3

tan 6 — tan 10° = I + tan 6 tap 10°,

fe[— 180°, 180°]
an 3x + | = ¢oq X xef0, 447)
xe[~7, )

2 cos(@ + 309 c05‘(8 =80 = 1.
B[~ 180°, 130°]
4 sin(6 + 759 cos(§ — 75°) = 1
Be[—180°, 130°)



